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6*01MAT15-A
B.A./B.Sc. (CBCS) DEGREE EXAMINATIONS, JULY/AUGUST - 2022
(Examination at the end of Sixth Semester)
NUMERICALANALYSIS
“(Regulation 2015- 16)

Time : 3 Hours i Maximum Marks : 75

| SECTION-A | _
. Answer any Five from the following questions: §  (5%5=25)

1. Evaluatethesum §=+3+5+ J7 to four significant digits and find relative errors.

 5=P3+5447 w@m&gsmm%@p& m&%ga‘&:ggmﬁo&
2. Find a root of the equation 3x =cosx + 1 by using Newton - Raphson’s method.
263°5b5 mnaﬁ 558 oy 3x = cos X + 1 &8 $EBwo ¥ 2.8 sﬁwﬂsuxg_ééag";o&. :
3. Finda root of the cquatlon I (x} x -2x+5 0, whlch lies between 2&3 use Mullers
method.” : ; _ )
fwpb 55 T f(x =x3r2x+s=0|¢$ SEEserDB 2 HBcn 3 My Ko Lrerd

4. Show that

1. A-V=AV

G AR
v 2

o SrHol.

5, Iffix), g(x) arc two functions then A{f(x)+g(x)}=4/(x)+ Ag(x).

fx), g(x) B2 Bod Eﬁadﬁ?e:o ward A{f(x)+g(x)}=4f(x)+ Ag(x) ©Q SrHol.
6. State and prove the Gauss backward interpolation formula.

PR 855D ©ostyEs drio [©H00D, QrEhosol. M
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7. Using the Lagrange’s formula, find f{10) from the given data.
SO woBdyES K@ ASEROD (Bob HE8 wob ((10) Densd EHEHPA.
x 5 6 9 11
y 12 13 14 16
'S Estimate the error in the value log 2.7 obtained from the following table.
B0 3856° Deosse® &'y log 2.7 0D T Denkid) E58Ho8

e 2 25 | 3.0
Y:logx  0.69315 0.91629 1.09861 )
| SECTION - B |

Answer All questions with internal choice from all units. ' (5x10=50)

UNIT -1 |
5xy’ , : . : ,
9. If u=—5— then find relative maximum error in #, given that Ax = Ay = Az =0.00] a
Z . < . ] 1]
X=y=2z=l. https://www.andhrastudy.com

5xy’ :
155 5y 21, ey 00 5§ g i it
(OR/8er) | -

10. ‘:")eﬁne ‘al;solute. relative, percentage errors and describe general error formula.
DD, Y, T8 St VENoSoA M8y Jerse &% SmEey aomBosob.
! UNIT - I1 |

11. Find a root of the equations x* —x—1=0 by using I'Jisection method.

DBl B8 oS ¥ -x-1=0 o $HEses SR E58508.

AOR/@w)

12. Find a root of the equation xe* =1 by using Iteration method.
BB BEB oS xe™ =1 ¥IEBmO @) Sorerd)) E85o8?
UNIT - III

2

| 5
13. i. Prove that u’=I+T DEPRHOSOR,

ii. Sﬁow that (1+A)(1+V) =1 © $508.
| (OR/8cr)
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8

18.

14.

Find the missing te_rrh of the following table

& [S0B HEES® S"0DS HBKmeDH BRI,
x 0 1 2 3 4 5

y 0 - 8 15 - .35

‘ UNIT -1V
15.

State and prove the Newton’s forward interpolation forrﬁula.
oS YOS oSS Ko (55900, MFPoiSol,

(OR/Bww)
16. State and prove Stiriling’s formula. ‘
w KwLéo 500D, rdosod.
UNIT-V ‘
'i;s,e Newton’s divided difference formula, find the value f(8) and f{15) from followiny
ta. : |
| sl Dgrd BE e, @5AeA0D (Bod HBE ol f(8), f{15) ok 558508,
)? 4 5 7 10 11 13
F(x) 48 lpO 294 900 1210 2028
(OR/Bwr)

State and prove Lagrange’s interpolation formula. .
S ©oSGHES SrE) (55000, NEFRoSCs.
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